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NATIONAL DEFENCE ACADEMY

MATHEMATICS

- =

Time Allowed : Two Hours and Thirty Minutes)  (Maximam Marks : 300)

' INSTRUCTIONS . '

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN
OR MISSING PAGES OR ITEMS, ETC. IF. SO, GET IT REPLACED BY A COMPLETE"
TEST.BOOKLET.

2. ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASF MAY,
BE IN THE APPROPRIATE PLACE IN THE ANSWER SHEET., .

3. You have to enter your Roll Number on the. Test r * ]

Booklet in the Box provided alongside. DO NOT

write anything else on the Test Booklet.

4. This Test Booklet contains 120 items (questions). Each item is printed both in Hindi and
English. Each item comprises four responses (answers). You wil! select the response which
you want to mark on the Answer Sheet. In case you feel that there is more than one correct
response, mark the response which you consider the best. In any case, choose ONLY ONE

« response for each item.

5. You have to mark all your responses ONLY on the separate Answer Sheet prowded ‘See
directions in the Answer Sheet.

- 6, All items carry ¢qual marks,

7. Before you proceed to mark in the Answer Sheet the response to various items in the Test
Booklet, you have to fill in some particulars in the Answer Sheel as per instructions sent
to you with your Admission Certificate.

8. After you have completed filling in al! your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer Sheet.
You are permitted to take away with you the Test Booklet.

9. Sheets for rough work are appended in the Test Booklet at the end.

10. Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE

IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third (0-33) of the marks
assigned to that question will be deducted as penalty.

(i) 1fa candidate gives more than one answer, it will be treated as a wrong answer even
if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii) If a question is left blank, i.e., no answer is given by the candidate, there will be no
penalty for that question.

(DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO )
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What is the value of (1 +1)°* + (1 - i)}
where i=v-17

(a -8
(b) 8
(c) 8i
) -8

What is the value of
tan 9° - tan 27° - tan 63° + tan 81° ?

(a) |
(b) 2
{c) 3
(@) 4

If x= ycos(%x]:zoos(%“], then what

‘isxy+yz+zxqqualto?

(& -
(b) 0
(¢) 1
d 2

If sin A + sin B + sin C = 3 then what is
cos A + cos B .+ cos C equal to ?

(a) ~I
®) 0
© 1
@ 3

2N

5.

2011

At a point 15 m away from the base of a
15 m high house, the angle of elevation
of the top is

(a) 90°

(b) 60°,

(c) 45°

) 30°

The simultaneous cquations 3x + 5y =7
and 6x + 10y = 18 have

(a) no solution

(b). infinitely many solutions
(c) unique solution .

(d) any finite number of solutions

What is the principal . value of

()

o3

(a)

wla

(b)

(c)

(d)

ala &|=A

What is the 10™ common term between
the series 2 + 6 + 10 + and
1+46+11+ ... ?

(a) 180

(b) 186

(c) 196

(d) 206

......
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1. (l+i)’+(l-?)’$1ﬂ1=lmk? 5. W ISmPIAWH JuTA ISm A

(i=v-1)
(a) -8
(b) 8
(c) 8i
(d) -8i

tan 9° - tan 27° - tan 63° + tan 81°
q o e ?

@ 1
(b) 2
(c) 3
(@ 4

aft x=ybws(%l=zcos(ﬁf). al

3
xy+yz+z.xfim‘~m3?;

(@) -l
(b) 0
(c) -1
(d) 2

ok sin A+sinB+sinC=3 @
cos A+ cos B +cos C Fad arat & ?

(@) -1
(b) ©
(e) 1
d 3

oW

6.

.
s-

T8 7 R Ry w ol 1 g A
7R 7 .
(a) 90°

“(b) 60°

(c) 45°
(d) 30°
El

o g 3X 4 Sy = 7

_ 6x+ 10y=18 &

(a) f ga 7 B
(b) ST w4 sa &

(o) R ww oA

(d) R 4 wRfw wen ¥ g @

m"(%]mg@ummt?

N

(a)

wiA

(b)

(c)

NE

(d)

AR 2+ 6 + 10 + ... _
I+6+ 11+ ... & &g 1091 adfrs w2
T R?
(a) 180
(b) 186
(c). 196
(d) 206
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If the 10™-term of a GP is 9 and 4' term
is 4, then what is its 7% term ?

@ 6
) 14
(c) 2714
@) 5615

- The function y = f(x) = mx + ¢ has

(a) maximum point but no minimum
point |

(b) minimum point but no maximum
point

(¢) both maximum and minimﬁm poinis

(d) neither maximum point nor minimum

point

If log,g 2, log,y (2% = 1), log,, (2¥#.3)
are three consecutive terms of an AP, then
which one of the following is correct ?

(a) x=0

(b) x=1 _
() x=log, 5
(d) x =logg 2

What is the locus of poilits of intersection
of a spherc and a plane ?

(a) Circle
(b) Ellipse
(c) Parabola
(d) Hyperbola

13.

14.

15.

16.

2011

4x + 29 = 0 has one
root 2 + 5i. What is the other root ?

The equation x?

(a) 2

) 5

(c) 2+5i
@) 2-5i

What are the square roots of - 2i ?

(i=y-1)

(a) =(1+1)
(b) #(1 )
() &i
(d) +1

What is the area between the curve

n
y =cos3x, 0< X S E and th_c co-ordinate

axes ?

(a) 1 square unit

1 ;
(b) 5 Square unit

) % square unit

(d) % square unit

At an extreme pbiht of a function f(x),
the tangent to the curve is

(a) parallel to the x-axis
(b) perpendicular to the X-axis
(c) inclined at an angle 45° to the x-axis

(d) inclined at an angle 60° (o the x-axis



9.

10.
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@ GP W 100 w98 @ e
4R @ TE W owm R

(a) 6

() 14

(©) 274

d) 56115

o y=fx)=mx +cA

(@) dfmaw Reg @ R A T
fg 4 2

' (b) g fg @ g oY s

frg T 8

(¢) i T g A1 feg R

11.

(@) 7 @ Ifaq I T & gTaw g
) .

TR log,y 2, logy (2~ 1), logyq (2° +3)
B AP # @ T W &, @ PR

R TR R

2.

(@) x=0

(b) x=1
{c) x=log, 5
(d) x = logg 2

13.

wfiET X —dx +29=0 @
245 & o g ;27 (i=vel)
(a) 2

() 5

(¢) 2+5i

c () 2-5i

14.
~ (a) :i:(l‘+ i)

15.

Mrew ok gwew & sRedT Regal W

frgma @n ¥ 7
(a) 9=
(b) Anfga

(¢) T@Edu
(d) Ffacae

-2i$mf1aﬁ§ ? (i=v-1)

(b) £(1~1)
(©) *i
@ i

aF Y = cos3x, OSKSEWWM
R AT w g w7 7

(@) | 7 @

(b) ;—ﬁm&‘

(€) 'I.;a'fmf

(dy i— al @

e f) ® T R o W owd

el

(a) x-¥8 B T 8

(b) x-¥8 wT 7= B

(©) x-38 ¥ 45° & B W AW 2
(‘d) xmaﬁo"_%mwms
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18.

19,

20.

d
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el

equal to ?
dx 9

(@ 1

(b) -1

() x
1
(d) x?

In binary system the decimal number 0-3
can be expresscd as

(a) (001001 .....),

(b) (0-10110
() (0-11001 ......),

@ (010101 .....),

‘Two letters are drawn at rahdm:n from the
word ‘HOME’. What is the probability
that both the letters are vowels ?

(a) 1/6
(b) 5/6
(c)y 172
(d) 13

Ifz=1 +itana where n<a <3?“.thcn
what is |z | equal to ?

(a) sec o

(b) = sec a

(¢) sec? « ;

(d) - sec? a

o oh

21.

7

23.

24,

2011

There are 4 candidates for the post of a
lecturer in Mathematics and one is to be
selected by votes of 5 men. What is the
number of ways-in which the votes can
be given 2 '

(a) 1048

(b) 1072

(c) 1024

(d) 625

What is the value of Z P(n1) ?

i
rel I8

T (a) 2=

(b) 2°
(c) 2n—l_
(d) 2"+ 1

What érc the co-ordinates of the foot of
the perpendicuiar from the point (2, 3)
onthelinex+y-11=07?

() (2,9) '
(b) (5, 6)
() (-5.6)
d) (6, 5)

What is the degree of the differential
equation ;

2
ey P, ey (Ex.)
[dx’} +4 3(dxz}+s i 0°?
(a) 3
(b) 2

© 23
(d) Not defined



17.

18.
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20.
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- {][}[ A

d .
Y red war &7
dx

(a) !
(b) ~I

Jo.

1
(d x2

fearmrﬁ_qu?fﬁzvmmmasﬁ
fom gy I FT gHd 8 7

(@ (001001 .....),
(b) (0-10110 ......),
© (e). (0-11001 ......),

@ (010101 .....),

‘HOME® & 3 ¥ UgReFa: P

@lsﬂﬂﬁww@m?ﬁﬁ%i‘mm

=/ oE !
(a) /6
(b) .5/6
(c) 172
(d) 173

iR z=1+itana W 1r<a<-?2£, a

.|z|mm§‘?

{a) sec
(b) —seca

(c). sect &

(d) -sec?a

©~J

21.

2011

w ¥ avem @ @ B 4 aadf

- B A5 wim 3 Az gO,uE & 9y

22.

&3,

24

FET 21 39 a0 N dwy G 2
o i R on gsa & 7

(a) 1048
(b) 1072
(c) 1024
(d) 625

P(n r

Zg
(@ 2"-1

(b) 20
(c) zn—}

F1AT T8 7

()2 + 1

W x+y-11=07 &g (2,3) ¥ a=
? w3 PdwE aw & 7

(@ 2,9

(b) (5, 6)

() (-5,6)

(d (6, 3)

FaFE GHRT

. - 2 .
3. \3 2
LA N L] +s(ﬂ’i]=o
dx’ dx? dx

# RBf 7 2 ?
(a) 3 o
(b) 2

(¢) 213

(d) wReafdm T 2
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28.
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“What is the area enclosed by the equation

x?+yl=27 .

(a) 4n square upils
(b) 27 square units
(¢) 4n? square units

(d) 4 square units

What is Im equal to ? -
(a) tan x + cot x + ¢

{b) tanx ~cotx +¢

(c) (tan x + cot x)* t ¢

(d), (tan x — cot x)* + ¢

where ¢ is the constant of integration.

x o l
The roots of the equation {p x 1|=0
By 1
are independent of
(@) «
(b) P
(c) v
(d a,pandy

Wﬁich one of the following is the mean

14 18|24 |2830
12(8 (4|3

TR
£ 24

(a) 17
(b) 18
(€) 19
(d) 20

°oc

29,

30.

3 .

32,

2011

If 4and b are two vectors such that
@ eb=0and a x b=0, then which one
of the following is correct ?

(a) 3 is parallel to b

(b) & is perpendicular to b

(c) Either dor b is anull vector.
(d) None of the above

If y=Inytanx, then what is the value

dy o,
ofdxatx i

(a) 0

(b) -1

() 12
Ad)

The point in the interval (0, 2n) where
f(x) = ¢* sin x has maximum slope is '

E=E |

(a)

(b)
(©)

A A

3n

@ 5

If tan0=vm | where m is a non-square

natural number m, then sec 20 is
a) a negative number

(b) a transcendental number

(¢) - an irrational number

(d) a rational number
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it 12 4 g2 = zﬁmmm
2

@ x|

26.

27. iE

28.

(b) 2n T THTEE
(c) 4n? ¥ TG

(d) 4@ wwrEi

Jog g P T # 7
sin® x cos” X

(a) tan X + cot X + ¢

(b) tanx —cotx+¢

(¢) (tan x + cot x)* + ¢

(d) (tan x = cot x)? + ¢

W ¢ MHET FEC 8

x a |l

B x 1
p oy !
(@) o ¥ &y
(b)' p ¥ wwA 2
() y ¥ wa ¥
() o, ¢ & @AY

=0 # 9¥

ﬁr—rmiffﬁaﬂa-mqm.‘-nﬁﬁinﬂ
a F e 8

182428 |30
121843

x; | 61014
f, [2]4 |7

(ay 17
(b)y 18,
(c) 19
d 20

00

2011

29uﬁaﬁzbﬂaﬁmgzﬂmm

ieb=03Naxb=0, O Preiefea ¥
Mmoo A 2?7

(@ &l b

® il

) @& i @ b gwakm 2
(@) Iw A 3R T

n

30uﬁ.'y Inm.?h -‘FTH;‘*}
oA &7
(a) 0
(b) -1
(©)- 112
@ 1

3L

@

32.

R (0, 20) B 76 g E R
f(x) = ¢~ sin x # mﬁﬂm g7

& A

(b)
(c)

N';;J 2 Nola

(d)

mn9=J_ammmrfu'-Trmf$Bﬁ1

sec 20 ®1 & ?

 (a) HCHH TE@W

(b) ¥dfefn g@n

(c) wuftw wen
(d) fom g@nm
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* .38,
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In any triangle ABC, the sides are 6 cm,
10 cm and 14 cm. Then the triangle is
obtuse angled with the obtuse angle equal
to

(a) 150°

(b) 135°

(c) 120°

(d) 105°

In a triangle ABC, if A = tan™' 2 and
B = tan~! 3, then C is equal to

(a)

'u|=l

(b)

& A

o A

(c)

ISR

(d)

Let @, B be the roots of the equation

(x —a) (x - b) = ¢,.¢ # 0. Then the roots

of the equation (x - &) (x - ) +¢ = O are
(a) a,c

(b) b, ¢

(c) a, b

(d) a+bat+tc

If the cquations x? — px + q = 0 and
x? - ax + b = 0 have a common root
and the roots of the second equation are
equal, then which one of the following is
correct ? '

(a) aq = 2(b + p)

(b) aq=b+p
(¢) ap=2(b+q)
(d ap=b+gq

39,

37.

38.

40.

n
- (a) 3
n
(b) 3
n
(c) 3
T
(d) s

2011

Ifn!,3x(n!) and (n + 1)! are in GP,
then the value of n will be

(@) 3
(b) 4
(c) 8
(d) 10

The smallest positive integral value of n
for which (E)n is purely imaginary
with positive imaginary part is

() |

(b) 3

(c) 4

@'

What is the area of the triangle formed
by the lines joining the vertex of the
parabola x2 = 12y to the ends of the latus
rectum ?

(a) 9 square units
(b) 12 square units

(c) 14 square unifs

.(d) 18 square units

What is the angle between two planes
2x-y+2=4andx+y+22=67
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33. 3R & B ABC @ sEmo 6cn‘1, 3. WM aLIxm) @ (n+1)GP X E

34,

- (d)

35.

36.

10 cm 3T 14 cm £, & 38 gy
Prga &1 gitee 1 Fed e @2
(@) 150° | S
(b) 135°

(c) 120°

(d) 105°

38.

Pys ABC # uR A= tan 2 w
B=tan'3 2, & C frea gy 8§ 7

@ 3
(®)

© %

39.

IS

" @R o, p TE (x - a) (x - b)=¢,
c#0 & 7@ & @ wiEwv (x =)
(x-p)+c=‘o%_11a§m3?

(a) a, ¢

(b) b, ¢

(¢) a.b

(d) a+ba+c B 40.

afR whwe %2 - px + q = 0 WY
x?-ax+b=0 & wdS gw 2 @R
qat gl # g wam ¥, @ Pl
8 wH-woww g 2 ?

(a) 2q=2(b + p)

(b)ag=b+p

(€)..ap = 2(b + q)

(d) ap=b+tgq

@on ® AA @ 2 ?
(@ 3

(b) 4

(c) 8

(d) 10

o W T A A A 2 R

Rre [:—;—:) s @ ow
T FoFfegd s gTRIs @ ?

(a). 1, '

(b). 3

(c) 4

(d) 5

TEdd x?2 = 12y ® ol ¥ 3ER Mg
F IR A EF ach e F @ o
1 &awe w7 & ?

(a) 9@t wwrmi
(b) 12 wFE
(¢) 14 3 zwrEi
(d) 18 = gewTeai

A T K-y +2= 4T x+y+22=6
? fvw a7

(a)
(b)
(c)

@ .

a|A &|A wlr A
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What is the equation of the curve

passing through the point [0.%)

satisfying the differential equation
sinxcosydx +cosxsinydy=0?

a—

(a) cos x.cos Y=

2

(¢) sinxsiny= 2

1

(d), cos x cos y = 2

(b) ‘sin x siny =

A husband and wife appear in an interview
for two vacancics in the same post. The
probability of husband’s selection is 1/5
and that of wife’s sclection is 1/3, What
is the probability that only one of them
will be sclected ?

(a) 1/5
(b) 2/5
(¢) 3/5
(d) 4/5

If & and P are the complex cube roots of
unity, then what is the value of
(1+a) (1 +p)(1+ad) (1+p)?

(@ -1
(b) 0
(¢) 1
(d) 4

12

44,

45.

46.

2011

A tower of height 15 m stands vértically
on the ground. From a point on the ground
the angle of elevation of the top of the
tower is found to be 30°. What is the
distance of the point from the foot of the
tower ?

@) 15{3m

®) 10/3m

) s3m
(d) 30m !

IftanA~tanB=xand cot B-cot A=y,
then what is cot (A - B) equal to ?

R

(ayx

There is a point inside a circle. What is
the probability that this point is close to
the circumference than to the centre ?

(a) 34
(b) 12
(c) /4
(d) 13
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W W W owhwo w2 W fig
(0,%].@@3{%#{%%

. sinxcosydx+cosxsinydy=6ﬂ‘?f

42,

43,

(@) cosxcosy=

qe w87

(b) sinxsiny=

- ”l& Ml&‘

(c) sinxsiny= 3

' g i
(d) c0s X COs y = 3

o o A T T A A R
3 fom & e & wive g ol @
g3 9 # g 1/5 & dow @

‘g3 W @ w13 2 A A R

@ T B G IR A TREa w7

(@) 1/5
(b) 2/5
(c) 3/5.
d) 415 -

IR o @ pIFE & ahtwy TEE E, @
(14 0) (1 +B)(1 +a?) (1 + ) =1 7
e ? ‘

(a) -1

' (b) O
(e 1

() 4

44,

2011

@ 15 m FH A 4fge W F@En
adt 21 qiays 3 fd g @ dar 3
i 1 T o 30° T A ¥
e # W A 39 Reg A gl P
g7 :

@ 15{3m

- (®) 103m

() 5V3m

| @) 30m

45.

46.

W tnA-tnB=x @ cotB-cot A=y,
a1 cot (A - B) Fwd awme & ?

79 F I g} T F@ TR
? 5w g 3 A wa Ry D
s Prae 8 7

(2) 34
(b) 172

(c) 1/4

~(d) 173
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How many diagonals will be there in an
n-sided regular polygon ?

@) n(nz- 1)

-3
(b) "("2 )

(c)

@ =5

Students of three sections of a class, having
30, 30 and 40 students appeared for a
test of 100 marks. The arithmetic means
of the marks of the three sections are 72-2,
690 and 64-1 in that order. What is the
arithmetic mean of the marks of all the
students of the three sections ?

(a) 666
(b) 673
(c) 680
(d) .706

What is the focal distance of any point
P(x,, y,) on the parabola y* = dax ?

(@) x, ¥y
(b) XY,

(6)ax,

(@ a+x

50.

51

52.

53.

2011

If the vectors -j-2xj-3yk and
i-3xj-2yk are orthogqnal to cach
other, then what is the locus of the point
9?7

(a) a straight line

(b)
(€)
(d)

an ellipse
a parabola

a circle

What is the value of the determinant

a=b b+c a
b-c c+a b|?
c-a a+b ci

(8) @ + b+ ¢

(b) 3be |
(e) a’+bd+c-3abe
0

Ifa,b,c,d, ¢ fare in AP, then (¢ - ¢)
is equal to which one of the following ?
(a) 2(c-a)
(b) 2(d~-c)
() Af-4d)

{d) (d~¢)

Let @ and B be the roots of the equation
x? + x + 1 = 0. The equation whose roots

“are «'? and B is

(@) x*=-x=-1=0
(b) xX2-x+1=0
(c) xX2+x-1=0

(@ x2+x+1=0
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47. noEE @A wEpE X B Bed 5o of aRw ~1-2x)-3yk W@ j-3xj-2yk

48.

49,

g 7

(a)_ n(nz_ 2 : ’

ﬁ(n-35

® =5

(¢) n?~n

@ =

100 3 aﬁ.@mﬁ, 30, 30 M
40 fonffll ot d= sgom ¥ Femd

Wi gU1 3T A e # e
& gl My 72:2, 690 AT 641 IW

FF ¥ A e & wh Rl
F s F OgEraR W qm @ 7

(a) 666
(b) 673
(c) 680

(4 706

T y? = 4ax T B Reg P(x), y))
N wEe ghown 7

(a) x Y Y
(®) x¥
(c) ax,

(d) a+x,

51

52.

33.

o gEe § dawrfa ¥, @ R (x, y) &
Regma 71 & ?

(a) ®@ @

(b) dhfga

(c) RaEww
(d) 79

a—b.bfc.a
b-¢ c+a b
c-a a+b ¢

e F WA FI

2?
(@ al+ b +d?

(b) . 3bc

“c) &+ b+ - Jabe

(d) 0

a2 Q.b,c,&.e,rA.P. ¥E A (-0

Pyeafofem ¥ @ Fed gmme 2 7
‘@) 2(c ~ a) '

(b) 2(d - c)
(c) .2(f - d)
@ @-c)

WA AR a @R P wiE 4 x+1=0
? @ ¥ ® wiww w ¢ Red o
af PO

@ K¥-x-170

b x2-x+1=0

'€ xX2+x-1=0

(d x2+x+1=0
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55.

56.

(d)
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A vertical tower stands on a horizontal
plane and is surmounted by a vertical flag
staff of height h. Ata poihl P on the plane,
the angle of elevation of the bottom of
the flag staff is B and that of the top is a.
What is the height of the tower ?

hanp

— e —

@ tana- tan

htan
tan @ + 1an

hcosf
cos (@ —-cos B

(b)

(c)

h
cos(a - )

p -q 0
If{0 p q|=0, then which one of the
g 0 p
following is correct ?
(a) p is one of the cube roots of unity
() q is one of the c_uBe roots of unity

(c) '?i is onc of the cube roots of unity

(d) None of the above

If (p, q) is the point on the x-axis
cquidistant. from the points (1, 2) and
(2, 3), then which one of thé following is

“correct ?

_(a) p=0,q=4.
() p=4,q=0
(c) p=312,q=0
d p=1,9=0

16

7

58.

59.

2011

If the variance of the data 2, 4, 5, 6, 17

is v, then what is the variance of the data
4, 8,10, 12, 34 ?

(a) v

If ¢ is the unit vector perpendicular to
both the:vectors  and b, then what is
another unit vector perpendicular to both

the vectors 3 and b ?

If p is the length of the perpendicular drawn

) .
from the origin to the line —+ % =1, then

which one of the following is correct ?

|
@ 3327
®) 757277 '

(©)
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54. TF Afe oo W U FEEY dER
- gd & Rd ofid ox b 3 w1 Felar

53.

56.

(D)

9T WY B A B @ faeg P
VRS B ad @1 34T o BB oway
i # I Fr o B 1 AR A S
T & 7

htanf
tana—tanf}

htan
) _tana,+tan[3

(a)

hcosf}
coso ~cosfP

h
cos(a-B)

(c)

p-q0
0 p q
q 0 p
H-mw w R

(@) p X 3 v @ X R 2R
() q W & w g AR @ 2

@ § @i 3w AR R

w)mqﬁifﬂﬁﬁéﬂ

e =0, @ Prfafea & &

ﬂﬁ‘(p,g),xmqt@ﬁ%?@ﬁﬁsﬁ
(1,2) ¥ (2,3) ? 9. ¢ w B, @
Prefofem & & #i7-m v 2 ?

(@ p=0,q=4

b)'p=4,9=0

(c) p=32,9q=0

(@ p=1q=0

17

7.

58.

59.

2011

af? g% 2,4,5,6,17 5 g8 v B, @
74 4,8, 10,12, 3¢ &1 yeen F 8 7
(a) v '

(b) 4v

(c) v?

(d) 2v

ot ¢ whoeEd ERe ?, W G b,
AN el 9T = 2, @ FA-w @
@ aRw ?, N 3 @y p A Gl
W ? -

(@) exa

(b) ©xb

=]

x

oL
S

() —i

(=1}

X

ol

ol
—*

X

i

(
i

(d)

0y
o't

x

R o feg A T — 4=l wHER
o ) eard p B, @ Prefife A

- ¥ -8 @ G B 7

1
(@) 2 ="§‘+§'
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60. If the sides of a triangle arc in the ratio

2:J6:14 /3. then what is the smallest
angle of the triangle ?

(a) 75°
(b) 60°
(c) 45°
(d) 30°

61. What is the value of

Js+2Js+st+2=J§1Tf.'.. » 7.

- (a) 10
(b 8
(¢) 6
(d) 4

62. If A= {a. b, c}, then what is the number
of proper subsets of A ?

(@) 5
(b) 6.
(c) 7
() 8

63. .In a random arrangement of the letiers of
the word *UNIVERSITY’, what is the
probability that two I's do not come
together ? '

(a) 4/5
(b) U5
(e) 1710

(d) 910

2011

64. I1ftan A = 1/2 and tan B = 1/3. then what

65.

is the value of 4A +4B ?
(a) n/4

(b) n2

(¢) =

(d) 2n

An acroplanc [lying at a height of 300 m -
above the ground passes vertically above
another planc at an instant when the angles
of clevation of two planes from the same
point on the ground are 60° and 45°
respectively. What is the height of the lower
planc from the ground ?

(@ S0m
100
(b) 5 -

.(C) 10043 m

@ 1503 +)m

I-;or what value of m are the points with
position vectors '10j +3j, 12i -5} and
mi +11j collincar ?

(a) -8

® 4

© 8

(d) 12
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60. ﬁmﬁgaa&mzf“fﬁ 64. IR tan A= 12 #X @n B =13 @

61.

62.

63.

FIma ¥ £, ﬁwhgwmagaqaﬂw
U

(a) 75."
(b) 60°
(c) 45°
(d) 30°

Jsu\s-pzm—
w;oWF F 7

ta) 10

(b) 8

(c) 6

") 4

iR A={a,b,c}, M A F I Jvggea
A gen faef & 7

ia) S
ib) 6
)y 7
d) 8

w& UNIVERSITY #) 6 3 @
ughos Rrm A Q|1 3 @ oy 3 I
& Fu wldem R 7

(a) 4/5
(b) 1/5

(¢) 1710

(d) 9M0

4A+4ern=rwr8?

‘(a) n/4

(b) n2

(¢) n

65.

(d) 2=

a3 300m N FaE R IzA £
F¥ AR CF I A B FR A @
&v i Faiga: [aa @ qw A AU
B o & Bl w Ry 8, 3710F Fm
FA9: 60° M 45° ¥ AR @ amurE
e A I w7

| {a) 50 m

66.

100

by ™M

(€) 100v3m

(d) 150(v3+1)m

m % B wm 3 R Ref R
10i+3), 12i-5 W mi+l1) T Ry
e g7

(a) -8

(b) 4

(c¢) 8

(d) 12 |



67.

68.

69.
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The mean of 7 observations is 10 and
that of 3 observations is 5. What is the
mean of all the 10 observations ?

@) 15

(b) 10
() 85

d) 7§

Whal is the ratio of coefficient of x'° to
' _ 28
the term independent of x in [xz +-;] ?

(a) 1/64

(b) 1/32

() 1/16

(d) 1/4

If a=' + b= + ¢! = 0 such that

l+a | |

I 1+b 1 =2, then what is A
i I l+c¢

equal 10 ?

(a) -~ abc

(b) ‘abe

() 0

(d) 1

2011

70. In a class of 125 students 70 passed in

71,

Ve

Mathematics, 55 passed in Statistics
and 30 passed in both. What is the
probability that astudent sclected at random
from the class has passed in only one
subject 7

(a) 13/25
(b) 3725
(c) 17725

(d)- 8725

For what value of m are the vectors .
%< 3j+4k, i+2j-k and mi-j+2k
coplanar ? ’ '

(a) 0

(b) 53
(c) 1

(d) 8/5

In a triangle ABC, a =8, b = 10 and
¢ = 12. What is angle C equal to ?

(a) A2
(b) 2A
(¢) 3A

(d) 3A72
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7 %@l & W 10 & 3y 3 3&v)

F oAt 5 20l 10 YO T wen W

27

(@) 13

" (b) 10

68.

69.

(c) 85

(d)y 75

2 2)° .
(x +;) ¥ x ? @A w A XY
d T F AT w0 R 7
(a) 1/64 |
(b) 1/32

(c) V16

@ 4

a2 gl + b+ =0 3@ R B

sa 1}
I 1+b 1 |=, 0 A RFed atex
! 1 l+c

27

(a) - abe

(b) abe

| (c) 0 |

@ 1

s Th

2011

70. 125 Raffal ) & a1 F, 70 Pm R,

55 wifew A M7 30 A7 7 Il gL
T witwa 2 B wen } agloTa.

: Wﬁiﬁaﬁ%@ﬁmﬁm'

&7

‘@) 13725

(b) 3/25

(¢) 17/25

(d) 8725

72

m. @ frg ma & fag. afra
2i-3j+4dk, i+2i-k @ mi-j+2k
Ty & 2

(@ 0

(b) 513

(c) 1

(d) 8/5

s ABC #, a=8,b=10 9 ¢ =12
g1o@ Fo C fawd avay @7

(a) A2

(b) 2A

(c) 3A

(d) 3A72
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]

: a , :
73. If S@B—K "’; foralix e R - {0}. then 76. If J{kz +(4_-4k)x + 433} dXSlz. lh(‘.l‘l_
which one of the following is correct ? .

I which one of the following is correct 2,
a) az ‘

fa) k=3
®) | (b) 0<k<3
- (c) k<4
1 d) k=0
() 3sy @
| | 77. If p, q, r are positive integers and (o
(d) a<3 is the. cube  root of unity and

fix)-= x} +x39* + x¥*2 then what is

flo) equal 10 ?
74. The cquation tan* x - 2 sec? x +a2 =0 ~ W

will have at least one real soiution if , (3
(b) - 0?
<
(a) |a|<4 L~
tb) |a|<2 : (@) 0
) lals V3

78. What is the maximum value of

(d) None of the _above 5cosx +4sinx+5?

(a) 5
'75. The sides a. b. ¢ of a triangle ABC are in )

arithmetic progression and ‘a’ is the (b) 7 ;
smallest side. What is cos A cqual to ? (¢) 10

3c-4b d) 12
(@) ~=g

3¢ - 4b 79. If sin 0 = cos? 0. then what is
(b) 2 _ cos* 0(1 + cos? 0) equal to ?

4c-3b : (a) 1
(C) 2 =

¢ (b) 0

Ib-4c (c) cos? @

@ 2 ' ; .
(d) 2sin0
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73, T sinO-—x{-% et x e R - {0} &

P

74.

95

(a)

(b)
(¢) as~—

(d) as

Ro & Pre=ffem ¥ ah-w @ g

wiEi tant x  2sec?x+al- 0 F FW

} F9 @ IRaRF ea B, o

@ |a] <4
(b) |als2
© |al<3
@) IFF 7 ¥ A T

Prg  ABC #1 sand a, b, ¢ §tAC AR
¥ a2 agaw qa1 F @ ocos A
s aoat & 2

3c-4b
-2

(a)

Ic-4b
2b

(b)

4c-3b

© %

Ib-4c
.2c

(d)

79,

76.

77.

78.

2011

2 i '
R jgk2+(4'-4k)x+4x’}dxsn. a
I

Prerhifer & A-wm o @) P 2

(@) k=3
(b) 0<k<3
(c) k<4
(d)‘k=0

R p.q. r HATHE PiE § W o 39
F OO & AR f(x) = x4 (30 4302
@ o) FaR awm 2 7

(a) o :

(b) - o?

{c) -~

(d) 0

5cos‘x+dsinx+5§}mmﬂl
27 -
(a) S

) 7

(c) .10
@ 12

afe siné=cos’9, A cos? 0(1 + cos? 0)
fred awmw 2 7 _ '

(a) 1
(b) 0
(c) cos® O
(d).2 sin 6
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. 80. What s the equation of the planc passing

81.

82.

83.

"What 1s

through the point (1, ~1, ~1) and
perpendicular to cach of the planes
x-2y-8=0and 2x+Sy-2=07?

(@) 7x-3y+2z=14
(b) 2x + S5y -3z=12
(¢) x="Ty+32=4

(d) 14x -5y +3z2=16

What is the value of tan 15° - tan 195°?
@ 7-43

() 7+443 -

©) 7+2J3

(d) 7463

If the rate of charige in volume of spherical
soap bubble is uniform, then the rate of
change of surface area varies as

(a) $quare of radius

(b) square root of radiuls

(¢) inversely proportional to radius
(d) cube of the radius

1+ cosx
sin X

sin X
f+cosx

equal to ?

(a) 2tan x
(b) 2 cosec x
(c). 2 (;os X
(d) 2 sinx

- 84.

85.

86.

2011

Some measures of central tendency for n
discrete observations are given below

I. Arithmetic mean
2. Geomelric mean
3. Harmonic mean

4. Median

A desirable property of a measure of central
tendency is if every observation is
multiplied by c, then the measure of central
tendency is also multiplied by ¢, where
¢ > 0. Which of the above measures satisfy

the property ?

(a) 1,2 and 3 only
(b) 1, 2 and 4 only
{c) 3 and 4 only |

~{d) 1,2,3and 4

If f{x) = x In X, then f{x) attains minim;im
value at which one of the following
points ?

(a) x=¢2
(b) x=¢
(c) x=¢

(d) x=2¢"

A variate X takes values 2, 3,4, 2. 5. 4,
3, 2, 1. What is the mode ?

(a) 2
(b) 3

(e) 4

(d) 5



80.

1.

82.

83.
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W wd W e woE W fg

(1,1, -1) & o ¥ AR x-2y-82=0

W@ 2x +5y—2z=0 guEal X ¥ gadw

w o ??

(@) 7x-3y+2z=14
(b) 2x + Sy - 32 =12
(c) x-"fy+32:=4 B
(d) 14x-5Sy+3z=16

tan 15° - tan 195° F1 917 +1 8 ‘?
@ 7-443
(b) 7+443

_(0) 7423
) 7+643

uﬁﬁmmmga%gﬁg&%waﬁ
Rafd @ 2, @ g & A

sinx -+l+eosx
1+cosx sin X

fws agat 8 7

(n)_ 2 tan %
(b) 2 cosec x
(c) 2 cos x

(d) 2 sin x.

2011

84, n wHad Yl A ¥ vt A %o

A AR

l. ¥H=X 7199

2. TPIRR WS

3. TUHS WA

4. wiftm

85.

86.

. ¥4 gyt o died w2 R

s Jev ®oc ® on frmoem@ @
g gy @ a9 oA ¢ @ @ & T
2 @@ c>0) Iw A ¥ F-FA A
WY W A T W B 7

(a) Wad 1,237 3

(b) Faa 1,2 M3 4

(c) ¥aa 3 3 4

@ 1,239 4

R ) = x In x, & Preafe ¥ & R
@ g 9T f(x) AYER WA 9T FT

2 7 o -

(@) x = e

®) x=¢

() x=c¢!

@ x=2¢"

et X, 9/ 2,3,4,2,54,3,2,1 &
2, s e ?

@ 2

(b) 3

(c) 4

@ 5



87. ]I'Z=-2—_l.--'+—2i,lhenwhatislhcvalue
of 22 +2Z 7 (i=v-1)
(@ 0
(b) ~I
(c) !
(d) 8

88.

89.

-(b)

www.eenadupratibha.net

1+2i 2=

What is the argument of
(T ~sin ©) + i cos 6 ? (i=m)

o n_ 0
(a) )

x 0
— -
2 2

4 2

n ©
@ 32

(c)

What is the area bounded .by the
cutve Vx +,Jy=+a (x,y>0) and the

coordinate axes ?

5a’
() Ty

BN

(b)

(c)

(X7

(d)

ml”

2011

90. Consider the following statements in

9.

9.

respect of the square matrices A and B of
same order :

" 1. AandB are non-zero and AB = 0 =

cither |A|=0or |B|=0
2. AB=0=>A=00rB=0

Which of the above statements is/are
correct ?

(a) 1 only

(b) 2 only

(c)- Both'1 and 2
{d) Neither 1 nor 2

For what value of k, are the lines
X+2y-9=0and kx +4y + 5 =0
parallel ?

(a) 2
(b} -1

(c) |

@ o

What are the points on the curve
x? 4+ y2 = 2x = 3 = 0 where the tangents
are parallel to x-axis ?

@ (,)and (1, -2)
(b) (0, ¥3) and (0, —v3)
(c) (3.0)and (-3, 0)
(d) (2. 1)and (2, -1)



87. MR z=—-—— W@ 22 427 W

88.

89.

(e)
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1421 2-i
2-i 142’

R oEm # 7 (i=vV-1)

(a 0

(b) -1

© 1

(d) 8

(1 = sin0) + i cos 6 F Friw 74 § ?

(i=v-1).
o 3
0 '§+§-
03t
03t

2011

© 90, WM P @ o gyl A IR B F A

an x+J;=w/a_(x,y;>.0) vy s

a6 g Rz fawd Fu R 7

(@ —

(b)

2
a-
g

? Prafafes soai w Far skl

I A @B ¥ 0 AB =0 =
WA |A|=0W |B]=0

2 AB=0=A=0TB=0
sofw At ¥ A wh Ad 2
(a) @ | |

(b) Fad 2.,

(c) 48T 2 3

(@ 7@ 1782

Sk # B o A RA YEd x4 2y-9=0

w@q kx + 4y + 5 =0 ®HFCE ?
@ 2 |
(b)y -l

(€ 1

(d) 0

92. 'ﬁ.‘x2+y2—2x—3=0ﬂ'{ﬁ=lﬂ’ frg

#ﬁﬁﬂmﬁ'@lﬁ_x-aa%wm

g7
@ (1,24 (1,-2)

() (0, ¥3) # (0, -V3) "
(¢} (3, 0) T (=3, 0)
@ (2, 1)dTE, -



93. If sin 3A = 1, then how many distinct

94,

95.

96.
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values can sin A assume ?
(@ |
(b) 2
(c) 3
(d) 4

-

What is the radius of the circle touching
x-axis at (3, 0) and y-axis at (0, 3) ?

(a) 3 units

(b) 4 units

(c) S units

(d) 6 units

For all n € N, 2" - 15n - | is divisible
by '

(a) 125
(b) 225
(c) 450

_ (d) None of the above

[f the of the
x? = 4x - log, N = 0 are real, then what

roots equation

is the minimum value of N ?
(a) 1/256
(b) 127
(c) 1/64
(d) 1/81.

97.

98.

99.

(d)

'(a) _J_l._fé

2011

‘The equation to sphere passing through

origin and the points (-1, 0, 0), (0, -2, 0)
and (0,0,-3)is X} + Y+ 2 + fix, %,2)=0. ~
What is f(x, y, z) cqual to ?

(a)
(b)
(c)

-Xx=2y-3z
X+2y+32
‘X+2y+32-1

X+ 2y +3z2.+ 1

What is the areca of the triangle
with vertices (1, 2, 3), (2, 5, -1) and
Clads

5 Square units

w 1B

5 square units

15 5w
(¢) ——— square units

4

(d) -]T.]S- square units

For what wvalue of x does
1 3 0Y(0

(1 32){3 0 2(|3([=(0)hold?
2 0 1 X

(@) -l

(b) 1

(c) 9/8

(d) -9/8
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R sin3A = 1, A sin ARG Fer-fr

AH 3 wea & ?

(a) 1

(d) 2
© 3

(d) 4

94,

95

96.

X-3E ® (3, 0) W y-éra @t (0, 3)

o e 3 A gu A Prow awm @ 2
(8) 3 oI ;
(b) 4 W

(c) S @l

(d) 6 sFrai

ot neN 3 A 2 15n-1 f&w

¥ e } 7

(a) 125

(b) 225

(c) 450

(d) svda ¥ ¥ A

uﬁ:mh'ﬂw:cz-d.x—longQOQW
anafas €, @ N & agaw AT A
g7

(a) 11256
(b) 127 |
(cj 1764
(@ 181

97

98.

b)) =

2011

T farg AT Regall (-1, 0,0), (0, -2, 0)
@ (0,0,-3) ¥ VR FMA A
OB x2 + y2 + 22+ f(x, y,2)= 0 81
f(x, y, z) FFad avaT @ ?

(a) -x-2y-32
(b) x + 2y + 3z '
(¢) x+2y+3z2-1
(d) x+2y+3z+1]

(1,2, 3), 2§ -1) @ (-1; 1,2) it
T P F dnd w7 R ?

Viss

.

2
V175

(a) ail ghEm

23#5?573111

JF

) it

4ar-fm==ﬂ

(d) l{ldszmw

‘xﬂ‘nﬁfﬂm%m,

1 3 0Y(0
(1 32)30 2[]3]|=(0) A®
2 0 1 )1x o

27

(a) -1
(® 1
(c) 9/8
(d) -9/8
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100.1f one of the roots of the equation
ab - ¢)x? + blc - a)x + cfa - b) =0
is 1, what is the second root ?

B b(c-a)
a(b-c¢)

(a)

b(c-a)
a(b-c¢)

(b)

cla-b)
a(b-c)

(c)

_c(a-b)
a(b-c¢).

(d)

101, What are the roots of the equation
Ay +2P% -5y +2)=127,

(a) -7/2,2
(l;) -3/2, 4
(¢) -5/3,3
.(d) 3/2, 4

102. What is lh.e value of log, (log, 81) ?
(@) 2 ;
(b) 3
(c) 4

(dy-9

2011

-103.1f  the roots of the cquation
3x% - 5x + q = 0 are cqual, then what is
the valuc of q ?

(a) 2
(b) 5/12

() 12/25

(d) 2512

104.[f @ is a null set, then which one of the
following is correct ?

(ay ®=0

b) o={0}
(c) ¢'_ ={®}
d @={ }

105. What is the equation of a line parallel to
x-axis at a distance-of 5 units below
x-axis ?

(a) x=35§
(b) x=-5
(€} y=3

@) y=-5
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100.3f2 wfEror
alb-c)x? + blc-a)x +ca=-b)=0

@ A A @ g 1.} @
T 2 7

_ b{c-a)
a(b-¢)

(a)

b(c-a)
a(b-c)

(b)

¢(a-b)
a(b_— ¢)

(©)

_¢la- bi
a(b-c¢)

@

101, &ofiaor 2(y +2)2 - S(y +2) =12 # 9@
Comm g7

@) - 70,2

® -32,4
© -503,3

@) 3724

102. log, (log; 81) # &7 & & ?
(@ 2 |
() 3
(c) 4

F(d)- 9

2011

103.3R wfteTr 32 -Sx +q=0 F @
A A qwm AT R

@ 2
(b) 512
() 12125
d) 25/12
104,77 @ wr R 'G'Tﬁm.ﬁ, A Preafaf
i o @ g ? |
(@ ®=0 |
® }p-;'{o;
(c) ¢=‘l 0.]
@ @={ '}.
105. x589 & A 5 gAY A gh x4
# gl Y@ F wiwo R R v
(a) x;-S |
() x=-5
() y=5

(d) y=-5
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" NOTE : STUDY THE FOLLOWING
TABLE AND ANSWER THE NEXT 08
(EIGHT) QUESTIONS THAT FOLLOW :

Male Fomale | |

Y& Frban | Rural | Tow! | Urban | Rural | Tomt | " |
1995 | 280 | 350 310 1350 |
1996 | 370 670 | 180 aso | T
PSS SiSmmbe S [URSSEEN, St SRS

1997 .| 130 | 440 190 |
1998 | 400 | 280 290 [
Total |_ 1060 | 850 |

106. What is the total population for the year

1997 ?

(a) 810
(b) 830
(c) 970
(d) 1030

107. What is the female urban population in
the year 1995 ?

(a) 390
(b) 410
(c) 430
(d) 470

108. What is the urban population in the year
S 1997 ?

(a) 400
(b) 460
(c) 490
@) 510

2011

109. What is the total population in the year
1998 ?
(a) 1000
(b) 1020
(c) 1040
(d) 1050
110. What is the difference between the number

of females and the number of males in.
the year 1995 2

(a) 90
(b) 100
(¢} 110
(d) " 120.
111, In which year is the male population
minimum ? :
(a) 1995
(b) 1996
€y 1997
(d) 1998
112. In which year is the female population
maximum ?
(a) 1995
(b) 1996
(c) 1997
(d) 1998

113. What is the percentage of rural male

population (over the whole population)
in the year 1998 ?

(a) %Q%

0 5%

(c) 35%
(d) 40%
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froeft . Y & 7 wroh @ gww AR 10978 1998 X @ wEEn wwE 7
mmmm'osrmwﬁt%m (a) 1000

Aoy - | , ~{b) 1020
% - _.-L&_ ] _ (C) 1040
NE I (d) 1050
1995 | 280 | 380 310. 1350 | : ,
1996 | 370 670 | 180 450 ' : ;
1997 130 | 440 9o |~ 1o.ad 1995 ¥ foorll # gem Ik geof =
1998 | 400 280 200 . .
e e Ay W ? dg s ¥
REC (a) 90
: “(b) 100
106, 1997 % fo = wrwwn 7 ¢ ? () 110~
(@) 810 P (d) 120
- (b) 830 | 1.5 7 ¥ Qe o g 7
(c) 970 - - (@199
_ ; (b) 1996
(d)" 1030 © 1997
(d) 1998

107. 7 1995 ¥ &f wwd ey sw g ? . .
~ 112.7m af A eff sreen sfwam 2 7

LR (a) 1995
®) 410 (b) 1996
(©) 430 (@ 199
b @) 1998
(d) 470

113,79 1998 % (F0 sa@n ) ywfivr geu |

’ ) m’ o m ?
108. 7 1997 ¥ Wl wwEm T oR 7 = e

. 80
(a) 400" . (@ 3%
(b) 460 w5
() 490 ©) 35%
@ s (@) 40% |
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NOTE : STUDY THE PIE CHART GIVEN 116. How much money (in crores) is allocated

BELOW AND ANSWER THE NEXT 04 1o both Agriculture and Employment ?
\ (FOUR) QUESTIONS THAT FOLLOW : (a) 20000

The following pie chart gives the distribution (b) 21000

of funds in a five year plan under the major (¢) 24000

heads of development cxpenditures : (@ 27000

Agriculture (A), Industry (B), Education (C),

: 117. How much excess money (in crores) is
Employment (D) and Miscellaneous (E).

allocated to Miscellan_cous over

The total allocation is 36,000 (in crores of Educatiof ¥

rupees). _ (a) 3600
(b) 4200
(¢) 4500
(d) 4800
118. What 1s the geometric mean of 10, 40
and 60 ?
(a) 10
(b) 20
(c) 40
(dy 70
119. What is the median of the distribution
114. Which head is allocated maximum 3,7,6,9.5,.4,2°
funds ? ' (@) 5
(a) Agriculture (b) 6
(b) Industry () 7
(¢) Employment (d) 8
(d) Miscellaneous 120. If the arithmetic and geometric means of
' : two numbers are 10, 8 respectively, then _
115. How much money (in crores) is allocated one number excecds the other number by
to Education ? (a) 8
(a) 3000 (b) 10
(b) 6000 (c) 12
() 9000 (d) 16

(d) 10800
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feoroft . Y Ry gw wher W owwmwr 116,90 @ dom A g B g
Fifm sk amr Ay A 04 (A W @ (F0s ¥) Prw ) T § 2

I Ao (a) 20000

A fon mnogm whe Rew a2 (0) 21000

7@ el @ af gwedfo dwen & R (¢) 24000

# R Ram 2 ) (dy 27000
F (A), 3@ (B), Rien (C), ez (D) 3 | ™
gt (E)1 7. R & fagn afte vl w i
.. gl (T &) Praa A o @ 2
ga fafvam 36.900 (Fqs. T 7) B @ 3600
(b) 4200
(c) 4500
(d). 4800

118..10, 40 3T 60 ®1 Toirex =mex F & ?

(a) 10
(b) 20
{c) 40
;T (d) 70
14, frg oind R st Al Prgg A nd |
¥ 2 ' 119.929 3,7, 6,9, 5, 4, 29 7ty w7
2?7
() P | ) &
(b) S (b) 6
(c) T ; S (c) 7
(@ v . e,

120.5R R wemd # s e

5. fen w3 Bl el (703 #) Pro Mo 10,8 8, A wr wen g

o R gen ¥ frodt afte ® 7
(@) 3000 @8
(b) 6000 ' ' (b) 10
' v (e) 12
{c) 9000 @ 16

(d) 10800
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Note : English version of the instructions is printed on the front cover of this Booklet. .




